N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} [%] (%]
S ] ]
g g g
(] (] Q
£ g g
B
2 10
[24 [24
0.5f---=---<--- R |- - - - - -
1w AN i Lk i I
—020 -15-10 -5 0 10 15 20 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] [ of associated (recoTosim) looper tracks vs dz_|
L2 R b kY g2
g g g g
2 10°F" e @
2 s g
i =
- =]
k- k=]
10°F
10°F
il =] 2 8
3 3 3 3
o . . . . . 14 . 4 o
05 --==qmrmamimrnn [ ERRER FERRED AR 0.5 ] i v 2 [k R R R R R LR
rns sanon, smannned : ; : b sthaasaon st anonsarecpmanassonranams ety M2t oo™ someim, Pesntnamnsnasnsipsmmansnmpe ot oot e e
-30 -20 -10 O 10 20 30 -30 -20 -10 0 10 20 30 -30 -20 -10 O 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


